B i E b At A2 104 2 e A AR
Zpreaay - 3110 ~ 3120 » 3150
FAIAEA L AB $AERT ~ &~ KA
o TREHE RA

#—H #*+—§

;.{iti 580 B 100 4
HEAAM - THGBRESL 711)&5}9‘%2 e

1.

2.

3. AN AEHAABZEELEEHNEL  FRIR T -
4 ::Jr:%ié%% ﬁ?ﬁ»% ﬁﬁﬁ%fﬁ/\ﬁﬁi—:&

— . Solve the following differential equations: (4 x 10%)

[ 2= er~ sec(y)(1 +x2) y(0) = 0
2. 6y —2y =xy* y(0) = —
dy _ 1-x—y _

3. == e | y(0) =2

4. y"" —6y" =3 —cosx

—.Given that
y(x) =e¥ and y,(x) =x+1

form a fundamental set of solutions for the corresponding homogeneous

differential equation of the following equation, find its general solution: (16%)

xy" — (x+ Dy +y=x*



0 1 0 3
_':_.IfA:[l 0 0| and x=12{ determine: (4x5%)
0 0 1 5
1. y=Ax:
2.y = A%x;
3. det(4*) ;
4, A7t

. Figure Q4 shows that R is the closed region bounded by the planes x=0, y=0,
z=0, and 3x + 2y -+ 6z = 6, evaluate (12%)

= [

Za

1 3x+2y+61=6

I~

3

>y

Fig Q4.

7 . Solve the following integral equation using the Laplace Transform: (12%)

y'(t) =1-sint— f{:y(lr)df, y(0) = 0




